
97 Witmer Road
North Tonawanda, New York 14120-2421
Toll Free U.S. 800-635-3213
716-694-3100
www.conferladders.com

Printed in U.S.A.

MADE IN THE U.S.A. by:

SAVE THESE INSTRUCTIONS 
DEALER/INSTALLER: GIVE TO HOMEOWNER

MODEL PES-G GATE ASSEMBLY
Can be used on Pool Entry System, SIG System and STEP Enclosure Kit

ASSEMBLY AND INSTALLATION MANUAL

WARNING: GATE MUST BE PADLOCKED WHEN NOT IN USE.

CONFER PLASTICS, INC.

Now with
Automatic Gate Closer!

NEW!!

SAFETY RULES
* Always follow the manufacturer’s recommendations for the safe 

use of all hand tools and equipment.

* When electrically powered hand tools and /or equipment are 
used outdoors, or where wet conditions are conducive to shocks, 
use a ground fault circuit interrupter.

* DO NOT use the Confer-Gate for any purpose other than that for 
which it is intended.

* When lifting awkward or heavy loads, have another person 
help you.

* Always padlock gate when not in use. 

* Consult your local Building Department before
installation of your pool and equipment.

* DANGER: Use a cordless drill for assembly and installation.
Never use an electric drill in or around the pool.

3-GATE-04
3-GATE-04  1M 9/13

4

CONFER PLASTICS, INC.
LIMITED, PRO-RATED WARRANTY

Confer Plastics, Inc. warrants their swimming pool ladders to be free from defects in workmanship for one year from
date of purchase. After the first year the cost to replace a part is as follows:

MODEL #PES-G
2nd Year  - 20%
3rd Year  - 40% 
4th Year  - 60%
5th Year  - 80%

Plus shipping/handling

Enclose proof-of-purchase (receipts, etc.) showing date purchased, your name, address, and daytime phone number. You
will be notified of cost to replace part.
This warranty gives you specific legal rights, and you may also have other rights which may vary from state to state.

DO NOT RETURN DEFECTIVE PART TO DEALER

The defective part should be returned, postpaid, to:
Confer Plastics, Inc.

97 Witmer Road
North Tonawanda, N.Y. 14120-2421

of current parts
list price

MODEL 
PES-DBL

MODEL SES

prpd.Confer_PES-G-8-13r5_0-2091 PES-G Assem.doc  9/20/13  12:04 PM  Page 1



BILL OF MATERIALS

Parts List Required Part #

Gate 1 6-Gate-01
Hinge Mounting Post 1 6-Gate-02
Latch Mounting Post 1 6-Gate-03

Hardware Pack Required Part #

#10 x 1-1/4” Screw 20 3-00-14C 
#7 x 1/2” Screw 8 3-Gate-01
Padlock 1 3-00-03
Gate Latch with Latch Bar 1 3-Gate-06
Gate Closer 1 3-Gate-07

Step #4
Spread open the flange of the
latch mounting post and slide it
down over the left side panel.
Slide the post up or down until
the support knob closes properly
into the recess on the post.
Once the latch post is aligned so
the gate closes properly fasten
the post to the side panel using
six (6) #10 x 1-1/4” screws.

Step #1
Spread open the flange of the
hinge mounting post and slide
it down over the right side
panel until the bottom edge of
the hinge post and the bottom
edge of the side
panel are even.

Step #2
Fasten the hinge post to the
side panel using six of the 
#10 x 1-1/4” self-tapping
screws at the pre-marked
spots on each side of the
hinge post (3 per side).

Step #3
Slide the open gate hinge
through the hinge post pin
opening and wrap the gate
hinge around the hinge pin.
Fasten the hinge at the four
pre-marked spots using the 
#7 x 1/2” self-tapping screws
(4 per hinge).

#10 x 1-1/4” 
Self-tapping 

Screw

#7 x 1/2”
Self-tapping 

Screw

Step #6
Close the gate and align the
latch bar by locking it into the
gate latch as shown. Secure the
latch bar to the gate with two (2)
#10 x 1-1/4” screws.

Step #7
Install the gate closer in the 
indented portion provided 
on the hinge post. Follow 
the directions provided 
with the gate closer package.
DO NOT use the slide plate.
It is for metal/wood finish 
wear and will not work with 
our gravity hinge.

Step #5
Install the latch on the mounting
block located on the upper 
portion of the latch using 
four (4) #10 x 1-1/4” screws.

2 3

WARNING: GATE MUST BE LOCKED WHEN POOL IS NOT IN USE.

Note: Spraying the gate hinges with a silicone spray will aid in the self-closing action.

The PES-G now includes a gate closer.
Mount the closer on the flat recessed are
on the hinge post (see diagram to left).
To adjust tension on the closer after
installation see detailed instructions on
closer package.

Tools Required

Cordless Drill
1/16 Drill Bit

Phillips Screwdriver Bit
Silicone Spray or
Spray Lubricant

POOL ENTRY SYSTEM GATE ASSEMBLY
MODEL # PES-G

prpd.Confer_PES-G-8-13r5_0-2091 PES-G Assem.doc  9/20/13  12:04 PM  Page 3



BILL OF MATERIALS

Parts List Required Part #

Gate 1 6-Gate-01
Hinge Mounting Post 1 6-Gate-02
Latch Mounting Post 1 6-Gate-03

Hardware Pack Required Part #

#10 x 1-1/4” Screw 20 3-00-14C 
#7 x 1/2” Screw 8 3-Gate-01
Padlock 1 3-00-03
Gate Latch with Latch Bar 1 3-Gate-06
Gate Closer 1 3-Gate-07

Step #4
Spread open the flange of the
latch mounting post and slide it
down over the left side panel.
Slide the post up or down until
the support knob closes properly
into the recess on the post.
Once the latch post is aligned so
the gate closes properly fasten
the post to the side panel using
six (6) #10 x 1-1/4” screws.

Step #1
Spread open the flange of the
hinge mounting post and slide
it down over the right side
panel until the bottom edge of
the hinge post and the bottom
edge of the side
panel are even.

Step #2
Fasten the hinge post to the
side panel using six of the 
#10 x 1-1/4” self-tapping
screws at the pre-marked
spots on each side of the
hinge post (3 per side).

Step #3
Slide the open gate hinge
through the hinge post pin
opening and wrap the gate
hinge around the hinge pin.
Fasten the hinge at the four
pre-marked spots using the 
#7 x 1/2” self-tapping screws
(4 per hinge).

#10 x 1-1/4” 
Self-tapping 

Screw

#7 x 1/2”
Self-tapping 

Screw

Step #6
Close the gate and align the
latch bar by locking it into the
gate latch as shown. Secure the
latch bar to the gate with two (2)
#10 x 1-1/4” screws.

Step #7
Install the gate closer in the 
indented portion provided 
on the hinge post. Follow 
the directions provided 
with the gate closer package.
DO NOT use the slide plate.
It is for metal/wood finish 
wear and will not work with 
our gravity hinge.

Step #5
Install the latch on the mounting
block located on the upper 
portion of the latch using 
four (4) #10 x 1-1/4” screws.

2 3

WARNING: GATE MUST BE LOCKED WHEN POOL IS NOT IN USE.

Note: Spraying the gate hinges with a silicone spray will aid in the self-closing action.

The PES-G now includes a gate closer.
Mount the closer on the flat recessed are
on the hinge post (see diagram to left).
To adjust tension on the closer after
installation see detailed instructions on
closer package.

Tools Required

Cordless Drill
1/16 Drill Bit

Phillips Screwdriver Bit
Silicone Spray or
Spray Lubricant

POOL ENTRY SYSTEM GATE ASSEMBLY
MODEL # PES-G

prpd.Confer_PES-G-8-13r5_0-2091 PES-G Assem.doc  9/20/13  12:04 PM  Page 3



97 Witmer Road
North Tonawanda, New York 14120-2421
Toll Free U.S. 800-635-3213
716-694-3100
www.conferladders.com

Printed in U.S.A.

MADE IN THE U.S.A. by:

SAVE THESE INSTRUCTIONS 
DEALER/INSTALLER: GIVE TO HOMEOWNER

MODEL PES-G GATE ASSEMBLY
Can be used on Pool Entry System, SIG System and STEP Enclosure Kit

ASSEMBLY AND INSTALLATION MANUAL

WARNING: GATE MUST BE PADLOCKED WHEN NOT IN USE.

CONFER PLASTICS, INC.

Now with
Automatic Gate Closer!

NEW!!

SAFETY RULES
* Always follow the manufacturer’s recommendations for the safe 

use of all hand tools and equipment.

* When electrically powered hand tools and /or equipment are 
used outdoors, or where wet conditions are conducive to shocks, 
use a ground fault circuit interrupter.

* DO NOT use the Confer-Gate for any purpose other than that for 
which it is intended.

* When lifting awkward or heavy loads, have another person 
help you.

* Always padlock gate when not in use. 

* Consult your local Building Department before
installation of your pool and equipment.

* DANGER: Use a cordless drill for assembly and installation.
Never use an electric drill in or around the pool.

3-GATE-04
3-GATE-04  1M 9/13

4

CONFER PLASTICS, INC.
LIMITED, PRO-RATED WARRANTY

Confer Plastics, Inc. warrants their swimming pool ladders to be free from defects in workmanship for one year from
date of purchase. After the first year the cost to replace a part is as follows:

MODEL #PES-G
2nd Year  - 20%
3rd Year  - 40% 
4th Year  - 60%
5th Year  - 80%

Plus shipping/handling

Enclose proof-of-purchase (receipts, etc.) showing date purchased, your name, address, and daytime phone number. You
will be notified of cost to replace part.
This warranty gives you specific legal rights, and you may also have other rights which may vary from state to state.

DO NOT RETURN DEFECTIVE PART TO DEALER

The defective part should be returned, postpaid, to:
Confer Plastics, Inc.

97 Witmer Road
North Tonawanda, N.Y. 14120-2421

of current parts
list price

MODEL 
PES-DBL

MODEL SES

prpd.Confer_PES-G-8-13r5_0-2091 PES-G Assem.doc  9/20/13  12:04 PM  Page 1



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU ([Based on 'PRINERGY PDFS - MARKS'] [Based on '[PRINERGY PDFS]'] [Based on '[Press Quality]'] Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        36
        36
        36
        36
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 9
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed true
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


